* Imagine a mass is to be moved linearly in a certain direction.

* According to Newton's 15t and 2" Law of Motion (F = ma),
1. A force must be added to change its speed or to
create a linear acceleration.

2. Greater the mass of the body, greater the force is
needed to create same linear acceleration.
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Nik Wallenda crossing Niagara Falls over a tightrope in 2012 and
became the first to walk on a rope over Niagara Falls.

He used a long rod to balance himself and distribute the total
weight over a wide distance thus increasing moment of inertia
that is resistance of rotation.
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What if we want to move a
body angularly instead of

linearly???

Does mass the only culprit
to hinder the rotation of a
body???
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